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Abstract

The Economic Lot Scheduling Problem (ELSP) is concerned with
the lot sizing and scheduling decision of n items. It has been proved that
the ELSP is an NP-hard problem. In the conventional ELSP model, it
does not consider the product stock could deteriorate over time. The focus
of this study is to employ the rotation cycle (RC) approach to solve the
ELSP with deteriorating items. The RC approach secures a feasible
production schedule in which each item share the same replenishment
cycle. We show that the RC approach’s schedule is optimal for in many
realistic situations. Importantly, we give upper bounds for the maximum
percentage that the RC approach’s schedule deviates from optimality. On
the other hand, we extend our theoretical analysis to the case that includes
the machine capacity constraint by considering the long run proportion of
time available for setups. We aso show how these results can be used
when backorders are allowed. An implication for Group Technology is
discussed. The proposed algorithm was tested by real data for electronic
industry, and this approach can be applied to most constraint-satisfaction
problems. If these situations mentioned-aboved does not exist, we derive
a hybrid genetic algorithrm (HGA) that utilizes the advantage of



multi-directional search in GA and employs an efficient heuristic, namely,
Proc FT, to test feasibility of the solutions found.

KEYWORDS deterioration, lot size, scheduling, the rotation cycle
approach, genetic algorithm approach.
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1.1

Economic Lot Scheduling Problem ELSP

ELSP
NP-hard [26]
ELSP
analytic approach heuristic
dynamic programming integer

programming Elmaghraby[8] Davig9]
10 ELSP
Park Yun[34] Boctor[3]
local minimum

global optimal solution

ELSP



ELSP

Harrig24] 1915
(economic order quantity ; EOQ) (economic production
quantity ; EPQ) 1958 Rogerg 38] (economic lot
scheduling problem ; ELSP)

ELSP EPQ
( )
(lot sizing) (scheduling)
1.2
ELSP
ELSP
ELSP

NP-hard



ELSP

ELSP
ELSP
( )
ELSP
1.3
(1)
2 ©)
ELSP
ELSP
ELSP ELSP
1.
2. (demand rate)
(production rate) (setup time) (setup costs)
(inventory holding costs)
4 .
5.

economy of scale



6. (cycle time)

ELSP

1. (setup costs)

2. (inventory holding costs)

3. (production costs)
(overhead costs)

ELSP ELSP

d [ units/period
P, i p,>d,  unitsperiod

h, i (cost/unit/period)

TR (Rotation Cycle Approch; RC)

T's (Independent Solution; |S) i
TC'*® IS
TC* RC



Pi pi = di / pl
B '
6.1,(t) t i
131 (Independent Solution; |S)
i d
i
c(T)=hd @-p)T, /2 pi =d/p,
i i
¢ (T)=(a/T)+(hd 1-p)T;/2)
EPQ i
T = 2—81
hd (- o) (1_1)
1.3.2 (The Rotation Cycle Approach ; RC)
T. =T, for all
minimize S i+ﬂdi[1—pi}r (1.2
=T 2
subject to Zn:s +pT<T (1.3)
i=1
(1.2

(1.3)



(1.4)

1962 [23]
TRC =max{\/2iai/|:zn:hidi [1pi]}is/[lipiJ}
1.3.3 (basic period ; BP)
RC
Bomberger BP
ELSP
Mind & Dap-pm( i)

subject toZ[s +pkB]<B
i=1

T =kB, Vi

where k  positiveinteger , Vi

T B B

(1.7)

1.34 (extended basic period ; EBP)

Min TC({k},B) = ZH:{KB hd(l P, KB}

i=1

subject to zwt(s +pkB)<B, t=1, .., K

Hanssmann,

(L4)

1966

(1.5)

(1.6)

(1.7)

(1.8)

(1.9)



where K =lcm{k}, (1.10)

Zw =1, i=1..,n (1.11)

w, =1, if productiis produced inthet™ basic period .
w, =0, otherwise.

and
. tmodk if t=)k,yeN
olit)=1, if t=k.,yeN
! ’ (1.12)
w, =1 i ki (T, =kB) t
14
C++ Boland C++ Builder5.0
C++
C++
15
ELSP
(closed-form solutions)
ELSP

ELSP



ELSP
Proc FT[41]

ELSP

Proc FT
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2.1 (economic lot scheduling
problem ; EL SP)

EPQ
EPQ
[71[35]
211
ELSP Emaghraby[8]
L opez Kingsmani[30]  Yao[40] ELSP
ELSP (analytic approaches)
(heuristic approaches)
(basic period)
ELSP
(dynamic programs; DP)
(integer programs)
ELSP Emaghraby[8] Bomberger[4] Axséter[2]
ELSP Yao[40] Davig5] Haesder Hogue[21]
ELSP Hsu[ 26] ELSP
NP-hard
(enumeration) (branch and
bound)
10 ELSP

ELSP
ELSP

10



Madigan[31] Goyal[19] Doall Whybark[6] Haessler
Hogue[21] Park Yun[34] Boctor[3] Geng  Vickson[15]

ELSP Galego Moon[14] Kim[29]
Gallego[12][13] Silver[39] ELSP
Khouja[27]
2.2
Raafat[37] (1) ( utility constant)
() (utility increasing)
3 (utility decreasing)
Nahmiag33] (1) (fixed lifetime)
(time-independent)
(completely perish)
(2 (random
lifetime)

(gamma)

11



(weibull) (exponential)

(time-dependent)

ELSP
Raaf at
Nahmias
2.3
1998 Khouja, et al.[28] Genetic Algorithm (GA)
ELSP (BP)
( )
BP
2.4
ELSP
Misra[32] Elsayd

Teresi[9] Heng, Labban Linn[25]

ELSP

12
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ELSP
ELSP
1. (setup costs)
2. (inventory holding costs)
3. (production costs)
(overhead costs)
4 .
ELSP
H, Hi:di(eiégiJrhi)
Zin=1pi =1
3.1 ( )
ELSP
311

3.1 IS T,

14

ELSP



700 -

600 -

500 ~

400 -

300 ~

200

100

31
i T =./2a/H,
i TC =&
IS
(3.1)
ELSP
(necessary condition) (g +s)/T <1

i
(3.3)

TiLB STl STiUB

Tl (1—pi)—\/(l—pi )2 —Z(Qpis)

| 6.0
T, if T2 <1 <T'®
-I—i|S: -I—iLB, I.I: -I-i*<-|-iLB
TR, if T >TY

15

Al

(B +s)/T,

)
4.5

(3.1)
(32
1S
(3.3)

TUs (1_Pi)+\/(1_,0i )2 -26,p5)

i O

(3.4)



1S (3.5)

Tc'Szé[%+%Hiﬂ'sj (3.5)
IS
TC'® ELSP TC'S
3.12
(Common Cycle approach)
T =T Vi
T RC
M nimize Zn:(%Jr%HiTj (3.6)
Subject to Zn:s, + B <T (3.7)
i=1
(3.6)
(3.7)
(3.7)
36) T (first-order derivative)
(3.8)
T :Jziai/iHi (3.8)

16



T (Convex)

36) T (second-order derivative) T > 0
(3.7)
(non-binding) T
(3.7) (3.8) T
(3.9
TR <T<T®
1_Zpi _J(l_zpij _z(zeipij(zslj
T = i=1 i=1 i=1 i=1
Zeipi
n n 2 n n
1—zp.+J(1—zpij 4300|355 ]
TUB _ i=1 i=1 i=1 i=1
Zeipi
T ifTB<T <TY®
TR ={T"® if T <T'
TY® if T >TY
RC (3.11)

TR (3.6) (3.11) ELSP
(3.12)
TCR (313)  (3.14)

TR <T <TY® and T <T <T®vi

17

(3.9)

(3.10)

(3.11)

TC'S

(3.12)



TC'S =3 ((23,H, )2 (3.13)

i=1

1/2
TCRC:( Za"j(zH‘D (3.14)
i=1 i=1
3.2 ELSP
ELSP
ELSP
Jones  Inman (1989)
ELSP
3.21 ELSP
1 1 1
ELSP
1 1 2 (3.15)
G _% G4
1 Hl_HZ H,
2 TU<T <T®
T'S=TF foralli=12,...n (3.15)

18



[ ] 1 (3.15) (3.16)
TR =T5=T,°=T,5=..=T° (3.16)
1S i (3.17)
dif, T4
B Za[l*'TJTiIS (3.17)
RC (3.18)
RC _ﬂ TRC9i RC
o8 o9
(315)  TS=TF  (3.15) (317)  (3.18)
(3.19)
ﬂiIS _ IBRC (3_19)
1 IS RC
|
1 n 1
2 RC
[ ] 1S
1S TC'S ELSP
RC
RC TC® ELSP
1 1 IS

RC RC

19



a /H;

322

ELSP

(3.20)

& 53 fori=1.2,...n
H,TH,

(3.20)
nm=1 0<p<l
TCRC

RC

2
1
ELSP
a /' H;
a; I H; 1
a/H, 8 /H;
TC'S ELSP
ELSP

20

a /H;

a /H;

a /H;
a/H,

(3.20)



i i TCRC -TC™®

T <T <TY®

2 n
and T <T <T Vi (3.21)
TCF -TC' [-Z‘m i J[leJ
= SQRT| = ——= -1 (3.21)
TC e
;(UiHi )l
[ ] a, = (nHa)/H, (313) (314
N 2\1/2 N n 1/2
Tc|szz[277ia1Hi j Tcm:(z(zﬂiHiaij(zHij)
i=1 Hl i=1 H1 i=1
n H al n 1/2 r -
U . .
RC Is (2(2 H ( HiD [ZniHij[zHiJ
TC - TC i=1 1 i=1 i=1 i=1
TC'’S = . H2 12 —1=30QRT . ol
gogwer
i=1 1 L i=1 i
(3.21) 7 1 RC
7 =min{y i =12,...,n} (tcre—TCs)tc's 5
(Tcre —Tc's)Tc's n
2
2 n T <T <T™®
TE<T <T* foralli  p=minfyfi=12...n} (3.22)
TCR -TC'® 1-7)
S SQRT{1+( 77’7) }1 (3.22)
[ ] 2 (rcFe —tc's)itc's (3.23)

21



TCRC —TC'S
TC'S

i=l =i

< QQRT{1+Zn:Zn:HiHj(77i .

i=1 j=i i=1 j#i

n= min{ni i=12.., n} (28)
[ m o+, - 77' )1 ] [,71/2 1/2] < [1 771/2]
(G, 12 |2 7
(3.24) (3.25) (3.23)
3 2

T@<T <T® and T <T <T* fori=1, 2
(3.26)

TCRC _TCIS 1+77_771/2
TclS < mR-r|: 1/2 -1

[ 1] 2
T <T <T% and T'° <7 <T* for i=1, 2
(3.22)
RC IS non
%s&)RT{l+ZZHiHj(ni+nj—
i1 e

<SQRT{—1+77771,277 } 1

(3.27)

H,/H,>1

22

= SQRT{LLZn:Zn:HiHj(ni +17, —2( 77, )1/2

g

2o, )2) /S HMH, (i y}_l (3.23)

(29)

(3.24)
(3.25)

(322) m

m =1 and 7,=7¢

(3.26)

m=1and n,=n

2(77i77j)l/2) ZZHiHj("in)M

-1
i=l j=#i

a/a, <1



4 2
T <T <TY® and T <T, <17, fori=1, 2 n=1and n,=n

H,/H,>1 a/a, <1 (3.28)
TC™ -TC" 2
o5 S SQRT[1+(77”2—1) ]—1 (3.28)
[ ] r=H,/H, p=a,ly =1 n=prx
5 TC™ -TC' _ [(Hy+7H, JH, + H )™
TC'S (H, +H,7"?)

— SORT (7ZH2 + H277)(7ZHz +2H2):|—1: SQRT{(”H])(” +21):|_1
(7Z‘H2+ H2771/2) (7[+771’2)

_ _(72'+p72')(7r+1) B
SQRT_(MW)“)Z] 1

i 2
R (ﬂll2+pl/2) 2(,072')1/2+p72'+1]_1

2
(7[1/2 + pllz)

[ 172 R
— SORT| 1+ (pr)" -1 ]1

(7[1/2+p1/2)2
r21
TC™ -TC'S (pr )2 -1f 2
—— = SQRT{lJr 1 -1< SQRTtH(n”Z -1) J—1 u
H,/H,>1 ala, <1 (3.28)

H,/H, >1

23



alH 5
5 2 T <T <T® and
Te<T <1 fori=1,2 n,=1 and n, =g H,/H,>1
a/a, <1
RC IS
% <(2)"? 1= 41.4% (3.29)
TCR -TC'®
[ ] 4 s SQRT[1+ (72 —1)2]—1
O<p<1 4 n=0 329 =
2 n 2 3 4
100 |
agf
sop |
gm- \H DN o
RGeS
e \
£ 50 )
T oagh 3 \
3op y
20 £ NN
100 fead L T
% 01 02 03 04 05 06 07 08 09 1
1} [(min afH)f{max aiH))
32 5 (TcF-TCc's)iTC's
3.3
ELSP
Gallego[11]



ELSP
orders)
3 6
331
ELSP
ELSP
BT,
i 1_Zin=1ﬂi /Ti
1->" 51T, <0
1-3>".81T, >0
Min 32 thT
ST 2
Subject to i[i+ﬁJ§1
i\ T
T = [2(a, +4s)) 150
H, + 40,6,
T A4

ELSP  (3.30-(332) 4

(back

(3.30)

(3.31)

(3.32)

(3.31)

(dual variable) A (3.31) complementary

25



dackness A =0
T IS 1>0

H,+4p6,>0 a>0 s>0 max(a,s)>0
(3.30) (3.31) y)
3 (3.30) (3.31) p)

J2(a +15)/(H; + Ap,6)) [
ELSP (3.30)-(3.32)

[ ] (3.30) (3.31)
A V2@ +2s)/(H, + 406 i
ELSP  (3.30)-(3.32)
|
6 ELSP  (3.30)-(3.32)

ai/(Hi +/1pi0i) S/(Hi +/1pi0i)

[ ] 3 J2a +4s)/(H; + Ap,6,) i
6 [
ELSP

3-3

26



700
600
500
400
300
200
100

-100
-200

-300

3-3 ELSP

A5

m/m+o) m=6&+h o =01-p)b
(3.30)-(3.32) ELSP
alT +1/2(H,T) ELSP

H, (3.33)

Fp__@—mﬁﬂﬂé+h)d (3.33)

! Q@—p0+@é+h i

27



3.3.2

Ham Hitomi

30

a / H;

34

Yoshida[22]

28

10

ELSP



8

0|

a; /H;

Ui

Ti LB

T TYB

100

2| 750

30/0.10

0.10/20

120

8.333

1.000

0.1042

4.0825|479.90

840

1.8| 800

40/0.12

0.12/18

158.4

5.303

0.636

0.1264

3.2567|316.54

1000

1.8/1200

60/0.08

0.08/15

180

5.556

0.667

0.0843

3.3333474.92

900

1.6| 600

39|0.12

0.15/16

156

5.769

0.692

0.1284

3.3968/191.67

800

1.3 500

28|0.07

0.18/15

112

7.143

0.857

0.0742

3.7796/187.23

1400

2 (1200

60/0.15

0.10/20

240

5.380

0.646

0.1580

3.4157|379.84

900

2.5 400

20/0.09

0.20/25

150

6.000

0.720

0.0948

3.4641/189.91

800

1.5/ 300

15/0.08

0.25/30

135

5.926

0.711

0.0843

3.4427|151.92

OCOINOO|UTDAW|IN (P

850

1.4{1500

90|0.07

0.06/10

180

4.722

0.567

0.0745

3.0732/522.15

=
o

900

3 | 200

12/0.10

0.30/40

180

5.000

0.600

0.1065

3.1623/104.34

1

(3.8)

T <T <T

n=0.567

TC'® = $5,485.496

T°=3.4139
T8 =2.7659

-I-iLB S-rl* S-I-iUB

2

15%

(tight)

0.284%

2

T*

TY® =8.5448

10

0.296%

29

TCRC =$5,501.099

3 /H;

n; =1 for all

(35) (3.14)

2 4




2 3 A 1145.04
(36) T, =T, =5.914 3
J2(& +2s)I(H, + Ap6;) i

J2a +4s)I(H; +4p,6,)
al(H +1p6) sI(H +1p06,) [
a l(H, +1p,6,)
s /(H, +p6,) i

30



ELSP

(1) (2) (basic
period ; BP) (3) (extended basic period ; EBP)
ELSP
ELSP
ELSP
ELSP
EL SP(EBP) EL SP(EBP)
Proc FT Yao and
Elmaghraby[41]
4.1 (basic period ; BP)
Min TC({k; } )=i{—+2d (6,& +h )k B} (4.1)
subject to z Liolls +8(B)]<B, fort=1,..,K (4.2)
and T =kB Vi (4.3

where ki positiveinteger Vi

T B B

BP

31



(4.2)

4.2 (extended basic period ; EBP)

ELSP ELSP(EBP) 2

(Power of Two;PoT) (General
integer;Gl)
ELSP(EBP)
421 EL SP(EBP)
MinTC({k, },B) = n izz{—+ d,(6.& +hk B} (4.4)
i=1 j=0 I=1

subjecttozn:ixw [(s +5(B))|<B,for t=1,.. 2" (4.5)

i=1 j=0
iixw =1 ,for alli=1,...,n (4.6)
j=0 1=1

. t mod 2/, if t;t;/ZJ,yeN

h = . _ 4.7
where ¢(1.1) { 2!, if t=;/2',7/eN} (4.7
and
x; {01} foralli,j,|
EBP (
) (4.5)
X i 2! (T| =2/ B)
2! {2°2"2%,2°} i
4-1

32



4-1

2° X o1
2! X 11 X12
22 X 21 X 22 X 23 X 24
2° Xar | Xasz | Xass | XKaa | XKas | Xse | XKaz | Xas
X, =1 | I 2!
(4.6)

1 i

(4.5) 4-2
4-2
i

t 2° 2! 2? 2°
1 (s +5(2°B)Xey | (8 +B(2'B)Xyy | (8 +8,(2°B)Xy | (S +5,(2°B)Xy
2 | (S+B(2"B)Xe | (8 +5,(2'B)%y, | (8 +5,(2°B)Xy | (s +5/(2°B)Xg
3 | (S+B(2"B)Xey | (8 +5,(2'B)Xy | (8 +5,(2°B))Xys | (S +5(2°B))Xs
4 (s +5(2°B)Xey | (8 +B(2'B)Xy, | (8 +5,(2°B)X | (S +5,(2°B)) X
5 (s +5(2°B)Xey | (8 +B(2'B)Xyy | (5 +5,(2°B)Xy [ (S +5,(2°B))Xss
6 (s +5(2°B)Xey | (8 +B(2'B)Xy, | (5 +5,(2°B)X, | (S +5,(2°B)) X5
7 (s +5(2°B)Xey | (8 +B(2'B)Xyy | (8 +8,(2°B)Xys | (s +5,(2°B))xs
8 | (S+B(2"B)Xey | (§+5,(2'B)Xy, | (5 +5,(2°B))Xp | (S +5(2°B)) X

6 (t=6)

(=0, t=6)

(S +B,(2°B)Xa

(=1, t=6)

(s +5(2'B))Xy,

(=2, t=6)

6=6-2°

6=3-2

6¢7-22,‘v’7€ N

?(j,t) = 0(2,6) =6mod2* =2

(=3, t=6)

6¢]/-23,‘v’7/eN

o(j,t)=(36)=6mod2’ =6
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o(j,1)=p(0,6)=2°=1

(i) =pL6)=2"=2

(S +5,(2°B)Xz,

(S +B,(2°B)xs




EBP

(i=1,23) 2 {2°,24,2%,2°}
Xip =1 X =1 Xy, =1 4-3
4-3 EBP
1 2 3

1 (s + . (2°B))Xo <B
2 (s + 4. (2°B) X (s + /. (2°B))Xoy (s + S (2'B))xy, |<B
3 (s + /. (2°B))Xoy <
4 (s + /. (2°B))Xoy (s + A (2 B)Xy, |<
S (s +B.(2°B) %oy E
6 (s +5,(2°B)) X (s +B.(2°B) %oy (s + B (2'B))Xy, |<
7 (s +5 (2° B)) Xon1 =
8 (s +B.(2°B) %oy (s + B (2 B)Xy, |<

(Sl + 5 (22 B))X122 =4

(Sl +5 (20 B))X201 =3

(s + 5, (2'B)xyp, =25  B=9 2 4-4

4-4 EBP ( )

1 2 3
1 3 <9
2 4 3 25 >9
3 3 <9
4 3 2.5 <9
5 3 <9
6 4 3 25 >9
7 3 <9
8 3 2.5 <9

Xipg = 1 Xom = 1
4-5

X310 = 1



4-5EBP ( )

1 2 3
1 3
2 3 2.5
3 4 3
4 3 2.5
5 3
6 3 2.5
7 4 3
8 3 2.5
4.2.2 EL SP(EBP)

Min TC({k },B)= g{%+%di 0.8 +h )k B}

subject to Zn:vvi(p(i’t)[(sI +p(B)]<B,fort=1,..,K
i=1
where K =lcm{k},
ki
>w, =1 fori=1..n
t=1

w, =1, if productiis produced inthet™ basic period .
w, =0, otherwise.

and
_ tmodk if t#)k,yeN
¢("t):{|g, | ift:;/ki,;/eN}
w, =1 [ K, (T. =kB)
Gl PoT
EL SP(EBP) Gl K;
PoT Gl
[ Gl
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(4.9)
(4.10)

(4.12)

(4.12)



PoT 4-1

4-6 Gl i

ki=1 | w,

=2 W, Wi,

i =3 Wiy Wi, Wiz

Ki=4 | wg | W, | Wy | W,

Ki=5 ] Wy | W, | Wg | W, | W

ki = Wiy Wi, Wiz Wiy Wis Wig

ki = Wiy Wi, Wiz Wiy Wis Wig Wi,

ki =8 Wiy Wi, Wiz Wiy Wis Wig Wi, Wig

i =9 Wi, Wi, Wis Wiy Wis Wig Wi, Wig Wig

ki =10 Wi, Wi, Wis Wiy Wis Wig Wi, Wig Wig Wiio
K 10 [

4-6
(4.12) 1 i
Gl ELSP(EBP)
PoT
4.3 Proc FT
ELSP(EBP)
ELSP
ELSP
Yao [41] Process Feasibile Test, Proc
|_—|'
Proc FT
ILP
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Proc FT
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Proc FT
Proc FT Proc FT
W
W K
W
4-1 L(W) Wi
Proc FT
W |
L(W) W
,@ oF 1 é .:;'?p 2 -------------------- ::,'31:. H
B 1| || seesesssssesessss
Efge | || s
2% 12 o ] N (e re—
£ K
41 (W)




k B o,
Proc FT
Proc FT 43.1 Proc IS
w L(W) Proc FT
Proc IS W
W’ L
W' =w L =LW) L'<B lemik; |
B W
@ Proc FT
$=1 $=0
$=0 Proc SS 4.3.3
L $=1 L W
Proc FT L Y
Proc FT Proc FT L
X <Y Proc FT
Proc IS L
Proc FT
Y
4.3.1 Proc|S
Proc IS
1. W
2. L
N n 9
9<n  W(9) 9 k B
Proc IS 9=0
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w(9)=0 Proc PS

4.2.2 W(9)
n
W =W(N)
Proc IS 2
ELSP W,
Proc FT Proc FT
W’ F F=(N-F)
W'’ Proc IS
v
I=F W'(9)=W,(F) N
F W'(F)
F Proc IS Proc PS 4.3.2 LPT
LPT F
LPT (Graham[20] Pinedo[36])

LPT j

(Boctor[3] Geng and Vickson[15])
Proc IS
B.1
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4.3.2 Proc PS

Proc PS W
3 [9<n  W(9)
9
k() k(9) k

W(9) |
k(%) k(9L {i f)=lem{k(9),k. }
k(9ufi})>k(9) w(gufil)
Koouf))  wlguf))
9 W(9) K(gu i )/k(9)
k(9 fi})=k(9) w(9)
k o w(gufi})
w(gu ) o Proc PS
B.2
4.3.3 Proc SS
Proc SS Proc IS
w Proc SS
Proc SS 3

ki >1 of
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ki >1

ki >1 2
1

k >1 2

k >1 Proc SS

B.3

4.3.4 ELSP Proc FT

ELSP

Proc 1S X Proc FT
L wnm Proc FT

) w W
4-2
11 y=0 =0 $=0 Y

2 Proc IS w

21 W"=w LW")=LWw)
2.2 y=0 U )=Lwm) w=w"
2.3 Lw™)<B LW )=Lw™) W =wm

3.1
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3.2

3.3

34

4.1
4.2

4.3

4 3.1.2

3.1.2 Lw™)>8 L") 3
3.2
321 Lw™)<B p=1 LW )=LWw™) wF=wnm
4 3.2.2
3.2.2 Lw™)>8 L") 3
3.3
2 1
331 Lw™)<B p=1 LW )=LWw™) wF=wnm
4 3.3.2
3.3.2 Lw™)>8 L") 3
34
Uw)
3.4.1 Lw™)< L) 7=0  LUWw)=Lw")
W =w"m 4 34.2
3.4.2 Lw™)= L w) x=x+1 4
4 Proc FT
$=1 Proc FT wf LW
7>Y ¢=0 Proc FT
7<Y  ¢=0 [n/2] F
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Proc | fNo

]
w

[n/ 2]

Lw")<B ?

<>

No

es

N o

?

check L'(w')

W =wm < ¥
s g=1
No L*(W*): L( m
and W =W"
Yes
v
LW )= Lwr)
and W =w"
Y
$=17?
Yes
No
<N
Yes
v
LW Jand W
| |
4-2 Proc FT.




Hsu[26] ELSP
ELSP

(Genetic Algorithm; GA)

(tk 1.B)
Proc FT
B

ELSP(EBP)

(1) GA

(2) GA
(global  optimum)

optimum)

(3) GA

(4) GA (probabilistic)
(deterministic)

5) (global convergence)
(reachability)
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NP-hard

ELSP(EBP)
Proc FT
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5.1

John Holland 1975

(natural
system)
(computing system)
51.1
5-1
(1) (coding) (2 (bit string) (3)
(initial population) (population size) (4)
(fitness function) (5)
(operators) (reproduction) (crossover) (mutation)
(6)

(1) (coding)

( ) (binary
coding) (direct coding)

(discrete value)

(key issue)

1-to-1 n-to-1 1-to-n 1-to-1
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1-to-n

5-1

(2 (bit string)

(chromosome)
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(individual)

3 (initial population)
(4) (fitness function)
(5) (operators)

(@
(reproduction)

(b)

(crossover) (information)

(offspring) (c) (mutation)

(6)
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(@

(b)

(©)

(d)

51.2 (operators)

(reproduction)
(crossover) (mutation)
(1) (reproduction)
(@

(b)
(©)

(2 (crossover)

(gene strings)
(chromosomes)
5-2
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-

B One - Point Crossover

B Tso - Point Crossover

B Uniform Crossover

I I , AT [ [
B E T E ETETT]

5-2

(one-point crossover)

(two-point crossover)

(uniform crossover)

0.5
0 1 0 1
01 Mask

(mutation)
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1 hit

chromosome 1 |1

chromosome 2 | 0

5-3
5.2 GA ELSP(EBP)
ELSP
Proc FT
4.2 EL SP(EBP)
PoT Gl
GA EL SP(EBP)
521 fitness function
fitness function
PoT Gl
(5.1
Min Fitness(fk,},B)=>"1-2 + 1d,(6.& +h kB
(A Y kIB 2 I 121 1 1
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GA

(5.1)



(5.1) kj B

ELSP(EBP)
ki)
local minimum B
B (5.2)
I %4
B= | —=2— (5.2)
Zdi(fiei +h )k
i=1
(t:8)
Proc FT (i 1.B)
fki )
52.6
ELSP(EBP)
ELSP(EBP)
5.2.2 (Constraints)
PoT
n ixij(p(j,t)[(s, +4,(B))|<B,for t=1,.. 2™ (5.3
i=1 j=0
z 2
D> xy =1 ,foralli=1,...n (5.4)
j=0 1=1
) t mod 2, if t¢7/2j,7/eN
h = . . 55
where (1.t) { 2!, if t:72',}/eN} (55)
and

51



x, <foa} foralli,j,I

Gl
Zn:V\/i(,,(i,t)[(S. +p.(B))]<B, for t =1, .., K (5.6)
where K = lem{k}, (5.7)
%Wit =1, fori=1,..,n (5.8)

w, =1, if productiis produced inthet™ basic period .
w, =0, otherwise.

_ tmodk if t=)k,yeN
and (p(l't):{lgy ” t:}/ki,}/eN} (5.9)
EL SP(EBP)
4.2
523
PoT Gl
PoT k; 2 ki =2"D v(i)>0
k. v(i)
5-4
V(i)
(binary vector)
v(i) v(i) (5.10)
v(i) C.l1
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& &
Dl E;ﬂ o
1{0|1/L{ofo|o0f1]1 - - - foj1]|oj1|1|0
\ ) . A
T B
k, k, : : 5 b
5-4
TR +4(Tc ) - (Tcisy
H — | I I .1
"0 {“’92{ bplb™ d (6, +h) 519
1 v 5 2 <5<2°
3 K
3 o 7
V(i)
kl
n-to-1
Gl k
(binary vector)
ki ki
(5.11) K C1
e +free ) - (re/sf
k - — | | | .11
ol bplb* d; (&6, +h;) G0
1 K 18
2 <18<2° 5 ky
5 0 31
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1
524
ELSP(EBP)

ELSP(EBP)

1
1.1

CR MR
12 a h ¢
1.3 S

1.4 o

0 Ky
k1
NP-hard
Proc FT
5-5
NoG PS
threshold



(Proc

5-5
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2.1 NoG=0
2.2 K;
2.3 PS
2.4
3
3.1 NoG =0
3.2
(roulette
wheel selection method)
4
5
MR
6 (i }.B) ELSP(EBP)
TCE®BP
7
7.1 threshold =1 |1
I<=PS
7.2 I<=PS 7.3 8
7.3 TCF® < threshold 7.4
I=1+1 7.2
7.4 k) 75
[=1+1 7.2
1.5 Proc FT 43.4

Proc FT
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2|

525

I=I+1

751 (fk}8)
=1+1 7.2
7.5.2
7.5.2 {ki }
7.2
8
8.1 NoG>1000
3
5.2.5
((33:)
lemik; }
B ki)
lemik; }
Proc FT
W (5.3)
lemik; } lemik; }
W
W
bpub  bplb B < bplb

bplb
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B > bpub
kit
EL SP(EBP)
ELSP
53 GA
GA

(Crossover Rate; CR)
(Number of Generation, NoG)

MPI

6
C.2)

Mean Performance Index, MPI
MPI (5.10)

GA IS

MPI = %

TC®
MPI

GA

ELSP(EBP)
bpub

ELSP
TCFC

TC™

(Population Size, PS)
(Mutation Rate, MR)

Fujitaf10] 6
(6
GA
GA
GA
PoT
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ELSP(EBP) PoT Gl

10 K 10  PoT
K, {2°,2,22,2°} 4-1
15 Gl 4-6
(10%9)/2 55 PoT Gl 10
ELSP(EBP) 15%
55% Gl 55% PoT
15% Gl GA
K K,
(lem{k.}) PoT K 8 Gl K
Proc FT
Gl

GA 5-6
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=100

NE=0.05

MoG=500
CR=02,0.4,05 0.6,0%

GA

HFERAEANMPIECR
A S CR

v

Fr=100

CR=CR'

MNoG=200
ME=0.050.1, .., 025

A

#FERHAEANMANMNE
A % MRS

CR=CR'
R =ME"*
MNoG =500
Pa=20,40, .., 100

A

HEERELIF] HES
A% PE

v

CR=CR'

IE. =IE.*

ps=ps’

MoG =100, 200, ..., 500

GA

HERERE AN &
MoG 4% & Mo’

v

ps=pg*
CR =CR'
IR =ME'
MoG =Mag"

5-6 GA
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5-6

MR=0.05, PS=100,NoG=500) MPI (%)
5-7
2 3 5r
Z 3o
L
o 25 //‘\’/‘
=
. 200
15
< 10}
5 [
0 |
0.2 0.4 0.5 0.
CR
5-7 GA MPI (%)
0.8
(CR) 0.8
0.8 (MR)
5-8
’O\; 4 0,
o 35-
w 351 ‘\‘\’/‘/‘
E 2 5,
= 2 0F
> 15F
< 10f
5 [
0
0.05 0.1 0.15
MR
5-8 GA MPI (%)
0.15
(MR) 0.15
0.8 0.15
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5-9

< 451
X
~40F
w 3 5-
S 30
. 25
:’ 2 0F
< 15+
10F
5 [
0
20 40 60 80 100 120
Pop-Size(PS)
59GA MPI (%)
100 (PS)
100
[18]
500 500
5-10
S 400
v ‘_\—’\‘\.\‘_‘
L
o 30F
= 250
- 2 0F
> 1 5-
10-
5 [
0
100 200 300 400 500 600
Generation( )
510GA MPI (%)
500 (11.3 sec.) 400

(8.5sec))
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600 (21.3 sec.)
GA 500
ELSP
GA 5-1
51 GA
100
500
0.8
0.15
54
5-2 53 Pentium 800Mhz
Microsoft Windows 2000 Pressional
128MB
5-2 PoT
B Ki | ko| ks |Ksq|Kks|Ks|Kky|Ks| Ko |Kio MPI(%) | Time(sec)
46748.4/0.01760| 2| 2|8 |2|8|8|8|2|4|1]|44044 3
61518.4(/0.01389| 2 | 4|2 |8|8|4|4|8| 4|1 |460674 3
08045.8(/0.01172|16|16| 4 | 8|4 |2 | 4| 4| 4 | 4 |97.9823 23
208826 (0.01847| 4| 1|4 |4|4|4|4|4|1|2|202805 22
51177.4|0.01248| 2 |4 |4 |4 | 4|2 | 1| 4| 4| 4 |3.80560 1
115674 (0.01422| 2 | 4|8 | 4|8 |8 | 1|2 | 4| 4|978973 11




B | ki|ko|ks|ka|ks|ks|ks|ke]| ko kio|MPI(%) Time(sec)
100960 |0.02181| 2 |12| 2| 6 |12|12| 8| 5| 8 | 1 [139.716] 225
174050 |0.03556|12| 2 |6 | 6|3 | 1| 1| 6| 6| 4 |251.456| 1043
290913|0.03034| 3| 1|4 |1|8|3|4|2|1]|3|675613] 207
55415 |0.01392| 3|23 |12/ 6|2 |1|6| 3|6 (124009 51
158490 (0.01918| 2 | 6 (12| 3|2 |3 |2 | 1| 4|4 (50423 | 114
90%
MPI Run-Time
C3 PoT MPI
Gl MPI PoT PoT
Run-Time Gl Run-Time PoT
cC4
52 53 PoT Gl
MPI
Run-Time
P e MPI Run-Time
Zin=1pi
55 GA ELSP(EBP,GI)
EBP
Zin=1pi



GA

EBP

EBP
(3.10)
5.1

5] >2(WJ@ |

(3.10)

GA
1 T =T

3.2.2

TR <T

=2*a /H, <T%

Zpi =0.8 ZSI

ELSP(EBPGI)

ELSP

GA

(5.14)

(5.10) TRC

T P

a / H;
ELSP
EBP
a / H;
ELSP
(5.14) > p =07
D's (5.14)
50~150 K
Kk
ELSP

lemik; } 10
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GA

2 -I—RC:-I—LB TRC:TUB TRC:TLB
TS a, | H,
(5.14)
Y p =07 Y p=08 2s 2.8
(3.10) T T ELSP
(5.14) D's T T
1 GA
1 2 Zpi ZSI
S Zpi

ELSP
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6.1

ELSP

(closed-form solution)

TCR® TCFC

GA
ELSP(EBP)

6-1

ELSP
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ELSP

Proc FT
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ELSP(EBP)

6-2
6.2
1.
2. GA
3.
(Smulated Annealing; SA)
(Tabu Search; TS) (Neural Network; NN)

Proc FT
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Al ELSP

dt
te[s,T] I 1 (t)
d'di—t(t) o1,(t)=-d, 1,(T)=0
(A1) (A.3)
()= pigfd‘ fi-e) tefo,p]
(A.2) (A.4)

Iﬁ#%@m“ﬂﬁ te[s.T]

B (A3) (A4 t p

(1 p —d +d.em
/ —[e—ijfn[ Pi J

T

h [ (t)elt p

Ti h(pg-dT)
h [t “T

T (p g -dT)
(A.7)
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(A.1)

(A1)

(A.2)

(A.6)

(A.2)

(A.3)

(A.4)

(A.5)

(A.6)



‘:vgi (piﬂi _diTi)
(A6) (A7)

TC, _i+—[§ +h—J(pﬂ —dT)

T T

(A8 T

(A9 (A9

e =2y
T2

A.2 ELSP

RC

Min i(%+%HiTj

i=1

n
Subjectto s + B <T

i=1

(A1) T

(A.7)

TC (A.8)
1

:?—I—ZHT (A.8)

T (A.9)

(A.9)

TC’ (A.10)

(A.10)

(A.11)

(A.12)

T (A.13)

(A.13)
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R R )

=>T'8 _ i=1
Zeipi
1_zpi +\/(1_zpij - zeipij(zle
TUB _ i=1 i=1 i=1 i=1
Zeipi
T,  fT®<T <T®
TR _ T8 it T <T'® (A.14)
TUE, it T >T"
(A14)  (A.11) RC (A.15)
TCRC :é( A +%HiTRC] (A.15)
A.3 1
(310)  (3.16) (A.16)
T8 >T®and T8 <TYforall i=12,...n (A.16)
1 (A.17)
a =AM for alli=23,...n (A.17)
Hy
(A.17) (3.8) (A.18)
T, =T, =..=T, (A.18)
(A.17) (3.15) (A.19)

a, + 2H, + 2H, ot 2H,
. H, H, H,
T =SQRT

H,+H, +H;+...+H,
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H
2a1(1+H2+3+...+”J
Hy H, " H

Hi+H, +H;+...+H,

— SORT

~ 2a,(H;+H, +Hy+...+H,)
_SQRT{Hl(H1+H2+H3+...+ Hn)}
_ 28y
s
(A.18) (A.19) (A.20)
T =T, =T,=...=T,
(A.16) (A.18) (A.21)

TR <TP<T =T/ <T® <TY® foralli=1,2,

(A.21) IS TS (31
(3.17) (3.18)
TR =T and T,* =T forali=12,...,n
(A.19) (A.22) (3.22)
T'S=T% forali=12,...,n =
A4 ELSP
&f(a 1
Min ;[f+§HiTij

Subject to Z% <y

i=1 1

(A.23b) (Lagrange)
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(A.19)

(A.20)

o (A.21)

RC TRC

(A.22)

(A.239)

(A.23b)
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TC:ZH:(%+%HJ] m{%—;{D

i=1 i

TC T,

A5 ELSP
Hib’a)i’rni

v, == p)T, pi=d/p

1

TC (T,,T,) =4 +%HiTﬂ2 +§bidi (1-p)T2

TC (T, T,
H(Tli ’T2i ) = %
1 2i

b
arc =0=H,T, =0
oty
oTCP

=0=>bd (1-p)T, =0

aTZi |( p|) 2i
T _bd=p) o ,where  m =6.¢ +h,o, =b1-p;)
T2| eigi +h| rni

T2i gifi +hi

T, +Ty B b(l-p)+06& +h

2 2
H=i+1dim{ @ ]Ti—'—ldiwi[ m JT

T 2 m + 2 m +
:i+ldi MT'
T 2 m+o

- Hb =g (1_pi)b|(‘9i§i +hi)
Y l bi(l_,oi)+9i§i +h
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B.1 ProclS
Proc IS
1 y
1.1 y=0 9= W(9)
1.2 y>0 9=F W(3)=W(F)=Wy(F)
F
2 K 1
2.1 F
w(9) 9=9UljljeF and k =1
1 2
3 ie(N-9) o = o
4 =
4.1 ) 411
411 = i f:argmaxjea{aj}
4.1.2 Proc PS o, W(9)
413 9 = g9=9uf} ==2-{}
4.2 E= O W =W(N) Proc IS
B.2 Proc PS
Proc PS
1 y
1.1 y=0 9=0 W(Y)=0 2
1.2 y>0 9=F W(9)=W(F)=W,(F)
F 2
2 k(guii}) k($u{i})=lcm{k(9)k; |



31 R wW(9) t
t=1..k(%)
R = g;,wiw(ki ,t)(S +,Bi)

Iz@(kf,t):{t mod k., if t=k , yeN

}and w, ={01} for all i and |

ki, if t=9k, yeN
4 v
4 w,  wlguf)
Proc IS Proc PS
B-1
B-1 (ProclS  Proc PS
1 2 | ...
K 2 3 | ...
5 10 | ...
1 k, =2
B-2
B-2 1 (ProclS  ProPS
1
K 2
1 5 5
2 0 0
2 k. k, 6
2
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B-3 2 (ProclS  Proc PS
1 2
K 2 3
1 5 10 15
2 0 10 10
3 5 10 15
4 0 10 10
3) 5 10 15
6 0 10 10
B-3 1
3
B-4 2 (ProclS  Proc PS
1 2
k 2 3
1 5 0 5
2 0 10 10
3 5 0 5
4 0 0 0
3) 5 10 15
6 0 0 0

[1]

Proc IS Proc PS
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B.3 Proc SS

Proc SS
T
wm Proc FT
L) wr
wW* Proc IS
Lw) w
W
L(w) W
1 L( m) =1
Hew) w0 =1 and s >1f
K; 1
New] {020 and k>3
K, 1
x Proc FT
Proc SS
3 3
() Remove Routine
ki >1 o,
1 F(r,Wm) |
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2
2.1 rzw)
i i
L(w)
2.2 Hr,wW")=2

Remove Routine
Lw™)

Lw)<Lw")

3
3.1

Remove Routine

3.2 Lw)> Lw™)

B=17
B-5

Proc PS

LWw)=LWw") wm=w =1
i

Remove Routine

21 5
Remove Routine
5 k >1
rew)={324)
16 B-6



)

(Remove Routine

B-5

15

21

15

11

10

10

10

10
11
12

)

(Remove Routine

B-6

10
11

16

11
10

10

10

10

10

11
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() Exchange Routine

lemik; |
ki >1
ki >1

1 i eF(r,Wm) o j eA(r,Wm) o

[ eF(r,Wm) j eA(r,Wm)

2 F(T,Wm)
2.1 rzw)
[ 3
2.2 l'(r,\/\/") =0 I'(T,Wm)
Exchange Routine
3 A(T,Wm)
3.1 A(T,Wm)
] 4
3.2 A(T,Wm) A(T,Wm)
[
4 o, O,
4.1 o >0, 4.1.1
41.1 A |
T
4.1.2 [ Proc PS
L(W) W
4.1.3 Lw™)
A. L(w)< Lw™) Lw)=LWw™) w"=w
1=1 Exchange Routine
B. L(w)> Lw™) i
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4.2 o, <0, 3
Exchange Routine
B=13 15 2
Exchange Routine
B-7 2 k >1
W) =23
ki >1
Nrw)=(3 3 2 2
Proc PS B
10 B-8 ({k },B)
B-7 (Exchange Routine )
1 2 3
K 2 4 2
1 0 0 2 2
2 5 10 0 15
3 0 0 2 2
4 5 0 0 5
S 0 0 2 2
6 5 10 0 15
7 0 0 2 2
8 5 0 0 5
9 0 0 2 2
10 5 10 0 15
11 0 0 2 2
12 5 0 0 5
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B-8 (Exchange Routine )

1 2 3
k 2 4 2
1 0 10 0 10
2 5 0 2 7
3 0 0 0 0
4 5 0 2 7
3) 0 10 0 10
6 5 0 2 7
7 0 0 0 0
8 5 0 2 7
9 0 10 0 10
10 5 0 2 7
11 0 0 0 0
12 5 0 2 7
() 2 1 Two-One Routine
2 1 lemik; }
ki >1
2 k>1

2 1

1 i eF(r,Wm) o j eA(r,Wm) o, +0,

[ eF(r,Wm) J,l EA(T,Wm)

2 F(T,Wm)

2.1 rzw)
i 3

2.2 l'(r,\/\/") =0 I'(T,Wm)

Two-One Routine

3 ] | A(T,Wm)
3.1 Alz,w™) il
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3.2 A(T,Wm) A(T,Wm)

4 o, 0o,+0
4.1 o, >0, +0, 411
4.1.1 i ownr i
;
4.1.2 [ Proc PS
L(W) W
4.1.3 Liwm)
A. L)< Liw™) Lw)=L(w™)
=1 Two-One Routine
B. L(w)> Lw™) I
3
4.2 0, <0, +0, 3
Two-One Routine
B=13 15 1
Two-One Routine
B-9 1 k >1
W) =23
ki >1
Nzwr)=(34 3 4
2 1 Proc PS
B 12 B-10

89

W™ =W



)

(Two-One Routine

B-9

15

15

15

10

10

10

10
11

12

)

(Two-One Routine

B-10

12
10
12

12
10
12

12
10
12

10

10

10

10
11
12
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Cl k ()
TCRe i bplb
[
K
(bplb)
K (C.1)
bplb = max(s + (s ), for t=1, ..., K =lemik; } (C.1
K, kubli]
(C.2)
& 1 * RC
< bplb + Edi (6,£, +h )k *bplb < TC, (C.2
kubli | (C.2) (C.3)
—TCre 4 freref - freisf
et = bplb* d; (56, +1h) (€3
PoT ki =2"0 v(i)>0 v(i) (C.4)
| TCR 44T - (TCisY
V) =100 b d (20, ) (C4
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C.2

ELSP

C-1

h

P;

d.

S

S

15

0.00065

7218000

96000

0.00052

0.05

17

20

0.01775

1920000

96000

0.00052

0.07

10

30

0.01275

2280000

192000

0.00104

0.04

16

10

0.01000

1800240

384000

0.00052

0.07

18

110

0.27850

480000

19200

0.00208

0.07

20

50

0.02675

1443600

19200

0.00104

0.06

310

0.15000

576000

5760

0.00417

0.25

20

130

0.59000

312000

81600

0.00208

0.08

11

O OINOO O W|IN|(F

200

0.09000

480000

81600

0.00313

0.12

18

[
o

0.00400

3609120

96000

0.00052

0.12

14

C-2

h

Pi

d.

S

S

50

0.00146

2640000

180000

0.00104

0.12

18

50

0.02644

480000

9600|0.00156

0.25

11

10

0.02869

336000

120000

0.00417

0.05

260

0.02250

1680000

38400

0.00208

0.3

70

0.62663

168000

12000|0.00052

0.22

14

160

0.06187

600000

24000

0.00104

0.23

18

30

0.03750

1320000

36000

0.00052

0.16

25

40

0.02333

720000

10800/0.00052

0.18

20

NI WIN (K

30

0.20250

1440000

50400

0.00313

0.05

=
o

20

0.00900

129651840

1080000/0.00104

0.24

14
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C-3

h

P;

d.

S

70

0.00160

6045360

360000

0.00313

0.06

15

0.05220

904800

48000

0.00208

0.07

0.8

30

0.00855

936000

31200

0.00104

0.24

20

30

0.09000

468000

57600

0.00156

0.15

13

50

0.36970

1200000

144000

0.00313

0.12

14

10

0.00270

3600000

720000

0.00417

0.2

25

100

0.16280

4800000

180000

0.00104

0.14

22

200

0.61000

480000

22800

0.00052

0.2

18

O OOINOOOO|PWIN|(PF

20

0.02000

1464000

24000

0.00208

0.22

20

=
o

150

0.00750

3600000

72000

0.00052

0.22

16

C-4

8

h

Pi

d

S

Si

18

0.02723

4800000

48000

0.00313

0.18

10

300

0.02690

8959920

1344000

0.00417

0.2

30

85

0.01830

1039920

31200

0.00365

0.12

10

150

0.25260

1799040

102000

0.00052

0.28

12

140

0.05262

1319520

76800

0.00156

0.12

20

360

0.34140

1018800

64800

0.00104

0.16

25

170

0.01941

710640

21600

0.00208

0.3

13

50

0.06186

1140480

80400

0.0026

0.15

12

OO INO (TR WIN|F

200

0.16030

8520720

576000

0.00052

0.22

20

=
o

300

0.01990

4800000

228000

0.00104

0.22

16
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C-5

h

Pi

d

S

Si

50

0.01936

1080000

21600

0.002604

0.36

20

20

0.01232

369360

12000

0.000521

0.15

13

60

0.02068

576240

9600

0.003125

0.24

15

45

0.02224

288000

7200

0.004167

0.28

14

0.07480

504000

16800

0.003646

0.12

14

110

0.01056

4320000

216000

0.002083

0.16

14

60

0.041/0

3291360

576000

0.001563

0.14

22

70

0.02610

1344000

16800

0.001042

0.15

18

O (N[O |0 W|IN|F-

90

0.01670

1560000

15600

0.000521

0.22

20

[
o

250

0.02956

1248000

46800

0.000521

0.22

16

C-6

8

h

Pi

d

S

14

0.095

6000000

216000

0.00156

0.34

70

0.0235

1440000

172800

0.00156

0.1

20

0.0065

5760000

100800

0.0026

0.08

30

0.022

144000

7200

0.00417

0.2

60

0.023

1680000

50400

0.00313

0.11

100

0.075

720000

50400

0.00365

0.13

300

0.1055

21600000

1080000

0.00052

0.14

60

0.014

5040000

504000

0.00052

0.1

OCONOoO|UAW|IN (P
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0.0625

2160000

216000

0.00104

0.07

=
o

350

0.2955

9600000

216000

0.00208

0.12

94




C.3MPI Run-Time

PoT MPI Gl
MPI PoT
MPI 90%
Ho : tlper 2 Hg Hittpgr < Hg
PoT Gl MPI
C-7 MPI
PoT Gl
Npyr =6 Ng =5
Xpor = 37.0129 Xg =104.3114
Spor = 34.5446 Sg =94.349
PoT Gl

Ho:oper =0g HyiHgiope #0g
t MPI
t ) (C5) (C.6)

2 2 2
s oT/ N s(%
Npor N
2

- (C.5)
) 5]
PoT S " Gl h 1
t = (Xpor = %) . . (C.6)
POT/ + SG/
(\/ nPOT nGI ]
(C5) (C.6) V=5 |ty]=15217 tig| > tors =1.476
PoT
PoT (Run-Time)
Gl Run-Time
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90%

Hoptper 2 tlg Hitlper < pg PoT Gl
Run-Time
C-8 Run-Time
PoT Gl
Npyr =6 Ng =5

Xpor =10.667 Xg =328

Spor = 9.2676 S =363.043
Ho Oper =0g HyiHy loper # 0g
t
Run-Time (C5 (C.6) v=5

tis)| =1.9539 tig| > toss =1.476 PoT
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CA4

C-9 C-19
10000
10000 B
C-9 PoT 10000*B=176
1 3 4 5 7 8 9 10
k 2 2 8 2 8 8 8 2
1 .32 26. 28
2 5.|128 5.147 11. 10. 56
3 32 26. 28
4 5.128 5.147
5 32 26|. 2§
6 5.(28 5.147 41. 66 4 2 .
7 32 26|. 2§
8 5.(28 5.147
C-10 PoT 10000*B=138.9
1 3 4 5 7 8 9 10
k 2 4 2 8 8 4 4 8
1 5/6. 5
211,13 5.8 |10./184
3 56 . 5
4 11)13 15. 94 5|. 35
5 5/6. 5
6 11,13 21.831 10,84
7 56 .
8 11,13 15. 94 5. 35

97

09

36. 56

10.
32
10.
5.29
10.
32



C-11 PoT 10000*B=117.2
2 3 4 5 6 7 8 9 10

16 16 4 8 4 2 4 4 4
1 50.01 1Q0. 81
2 17./55
3 50. 01 2 1.
4 1j0. 7|7 35 5. 46
5 50.01 1Q0. 81
6|/33,11
7 50. 01 21.
8 1j0. 7|7 35 5. 46
9 50.01 1qQ0. 81
10 17.55
11 50. 01 2 1.
12 10. 7|7 35 5. 46
13 50.01 1Q0. 81
14 21. 94
15 50. 01 2 1.
16 1j0. 7|7 35 5. 46

C-12 PoT 10000*B=184.7

1 2 3 4 5 6 7 8 9 10

4 4 4 4 4 4 4 1
1 47 . 972 0. 85
231,56 47 . 972 3|7 . 5|5
3 47 . 9 2 5. 51 18./37
4 31|56 47 . 972 16,54 (21.87

C-13 PoT 10000*B=124.8

1 2 3 4 5 6 7 8 9 10

2 4 4 4 2 1 4 4
1 42.71 21,87 ,118.|37
226,56 311. 7|7 18. 3(7
3 37,68(21,87]18.|37
4 26|56 5|1 38 18|. 37

98

17

17

17

17

10. 55



C-14 PoT 10000*B=142.2

2 3 4 5 6 7 8 9 10

8 4 8 8 2
116,19 .47 5

2 17. 51 5. 47
316,19 43.1[75 5.147
4 26. 5 32.(19 5. 47
516,19 .47 5

6 14.51 5. 47
716,19 A3. (75 5.147

8 39. 01 L 47

99

.73 11.

.73 11.



C-15 Gl 10000*B=218.1
1 3 4 6 7 8 9 10
2 2 8 8 4 4 8
1 5|6 . 5
2 11 5.(58
3 5|6 . 5
4 11 g .
5 5(6 . 5
6 11 15. 94 1. B1
7 5(6 . 5
8 11 . 35
9 5(6 . 5 g .
10| 11 10. 84
11 5|6 . 5
12 | 11 1. 31
13 5|6 . 5
14 |11
15 5|6 . 5
16 [ 11 . 35
17 5(6 . 5 5.158
1811 15. 94 21. B1
19 5(6. 5
20|11
21 5(6 . 5
211 10. 84
23 5|6 . 5
24111 1. 31 5.85
25 5|6 . 5
26|11
27 5|6 . 5
28|11
29 5(6 . 5
30|11 15. 94 21. B1
31 5(6 . 5
32|11 5.158 5. 35
33 5(6 . 5
34111 10. 84

100

3

.29

2.

.29

_— (1Y

_ e e e



35 56 . 5

36 21. 31

37 56 . 5

38

39 56 . 5

40 5. 35
41 5|6 . 5

42 15. 94 1. 31

43 56 . 5

44

45 56 . 5

46 10. 814

47 56 . 5 5./58

48 1. 31 5. 85
49 56 . 5

50

51 56 . 5

52

53 5/6. 5

54 15. 94 1. 31

55 56. 5

56 5. 35
57 56 . 5

58 10. 814

59 56 . 5

60 1. 31

61 56 . 5

62 5.158

63 56 . 5

64 5. 35 5
65 5/6. 5

66 15. 94 1. 31

67 56 . 5

68

69 5/6. 5 5.
70 10. 814

71 56 . 5

101
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72 2 1. 5.85
73 5|6 . 5

74

75 5|6 . 5

76

77 5(6 . 5 .15 8

78 15. 94 31

79 5|6 . 5 g .
80 . 35
81 5|6 . 5

82 10. 84

83 5|6 . 5

84 2 1.

85 5|6 . 5

86

87 5|6 . 5

88 5. 35
89 5|6 . 5 g .
90 15. 94 31

91 5|6 . 5

92 .15 8

93 5|6 . 5

94 10. 84

95 5|6 . 5

96 2 1. 5.85
97 5|6 . 5

98

99 5|6 . 5 g .
100

101 5|6 . 5

102 15. 94 31

103 5|6 . 5

104 . 35| 5
105 5|6 . 5

106 10. 84

107 5|6 . 5 5.1/58

108 2 1.

102

.29

.29

| 29



109 5|6 . 5|5 g. 2|9
1100 11, 13 1
111 5|6 . 5|5 1
1121 11 13 5. 35
113 5|6 . 5|5 1
114 11 ) 13 15. 94 21. B1 5. 2
115 5|6 . 5|5 1
116/ 11, 13 1
117 5|6 . 5|5 1
118/ 11, 13 10. 84
119 5|6 . 5|5 .29
120 11, 13 1. 31 5.85

C-16 Gl 10000* B=355.6

1 2 3 4 5 7 8 9 10

1p 2 g 6 3 1 1 4 6 4
1 21. 94 50.01 10. 81| 5. 46
2 17.55 50/01,10.|81
3 21. 94 3 50.01 10. 81
4,33|11 50.01 10 81
5 21. 94 110. 7|7 50. 01 10} 81
6 35 5p.01 10. 81
7 21. 94 50.01 10 81 5. 46
8 17./55 50,01|{10./81
9 21. 94 35 50. 01 10. 81
10 50.01 10. 81
11 21. 94 50.01 10| 81
12 1j0. 7|7 35 5p0. 01 10. 81
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C-17 Gl 10000* B=303.4

1 2 3 4 5 6 7 8 9 10

3 1 4 1 8 3 4 2 ] 3
1 1,56 47 . 9 72 3|7 . 5|5 5.31
2 47 . 97 5. 31 11./08 27 .88
3 47 . 97 5.31 16. 54 5.
4 1/56 47 . 972 5. 3 21./46 27.
5 47 . 9 2 3|7 . 5|5 5. 3 11. 08
6 47 . 9 72 5. 31 27/. 88 5.
7 156 47 . 972 5. 31 5
8 47 . 9 72 5. 31 11./08 21. 46 27. 8
9 47 . 9 72 3|7 . 5|5 5. 5
10031 ) 56 47 . 9 7 5. 27 .88
11 47 . 97 5. 31 6.94 11.08
12 47 . 97 5. 31 21./46 (27. 88
13 31) 56 47 . 9 72 3|7 . 5|5 5.31
14 47 . 97 5. 31 11./08 27 .88
15 47 . 97 5. 31 5. 56
16/ 31, 56 47 . 972 5. 21./46 27.
17 47 . 9 2 3|7 . 5|5 5. 11. 08
18 47 . 9 72 5. 31 27/. 88 5.
19931, 56 47 . 972 5.31 16.54
20 47 . 9 72 5. 31 11./08 21. 46 27. 8
21 47 . 9 72 3|7 . 5|5 5. 5
2/ 31|56 47 . 9 7 5. 27 .88
23 47 . 97 5. 31 11./08 5.
24 47 . 97 5. 31 21./46 (27. 88
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C-18 Gl 10000*B=139.2

1 2 3 4 5 6 7 8 9 10

3 2 3 L 2 6 2 1 4 3 6
112656 213.87 18| 37
2 5. 38 42. 171 18./37
3 3|1. 7|7 21.87 18| 37 5.
412656 5. 38 18|. 37
5 37,68|21,87,18.(37
6 5. 38 31. 77 18.37 10. 55
7126]56 21.87 18| 37
8 5. 38 18. 37
9 311. 7|7 21.87 18| 37 5.
10026 ) 56 5| 38 18. 37
11 37,6821, 87,18.|37
12 5. 38 31. 77 18.37 10.55

C-19 Gl 10000*B=191.8

1 2 3 4 5 6 7 8 9 10

2 6 172 3 2 3 2 1 4 4
1 43.1(75 5. 73 2
211619 26. 5 33.]19 5. 47 5.7
3 39. 01 5. 73] 11. 46
4,16(19 A3.[75 B3.1]19 5.47 5. 7:
5 17. 51 5. 73
6/16)19 33/{19,39,01 |5.47 5. 7:¢
7 43 .75 5(. 73 11. 46
81619 3319 5./147 | 5. 73
9 39.01 5/. 73 2
10016 ) 19 A3.(75 B3.119 5. 47 5. 732
11 17. 51 5. 713 11. 46¢
1201619 33193901 |[5.47 5. 7:¢
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